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Data Sufficiency ¢&Saro% :)mﬁ‘.gé

Note:In the following 20 questions each question is followed by data m the form of two statements labeled
as I and I You must decide whether the data given in the statements are sufficient to answer the
questions. Using the data make an appropriate choice from (1) to (4) as per the following guidelines:

a) Mark choice (1) if the statement I alone is sufficient to answer the question.

b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

¢) Mark choice (3) if both the statements I and II are sufficient to answer the question but neither
statement alone 1s sufficient.

d) Mark (4) if both the statements I and II together are not sufficient to answer the question and
additional data is required.
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Sub questions

Question Number : 1 Question Id : 496901211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What is the perimeter of the rectangle?

&0 D060 EnFOS Jord?

I.  The arca of the rectangle is 168 em’

es g DGR DT 168 5.00.20

II.  Length of a diagonal is 25 cm.

w8 Sdo T 25 Do.ad
Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 2 Question Id : 496901212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the remainder when the polynomial P(x) is divided by x-57

28 DA plx) A x-5 & & hoddyE DFy F0AW Joeh?

L. The remainder is x+3 when Pfx) is divided by xX’=3x-10

p(x) & x? — 3x — 10 & oS D3y Faw x+3

II.  The remainder is 1 when Pfx) is divided by x+2

p(x) &0 x+2 & arfoddady 2y Faaw 1
Options :
1.¥1
)
&3
L® 4

AW

Question Number : 3 Question Id : 496901213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the cost price of each pen?
@8).5), Svo MwS) ) DU Jod?
I.  If 4 pens arc sold for Rs. 244, then the percentage of profit 1s 22

4 S0d0 AF 244 £ oo :_)r‘ijzhfﬁ erEd Teeho 22

II. 4 pens are sold at a profit of 18%

4 gerwen 18% ereiod €907, C0.

Options :
1.¥1



2. %)
3.%3
4. % 4

Question Number : 4 Question Id : 496901214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the number of elements in the set A U B?

AU B ¢ o anro=se) Roay dodh ?

I. NumberofelementsimnANB =5

ANB ¢5°2 surese Roay 5

II.  Number of elements of B which are not in A 15 17

B &° &od A &° G2 anreste Doy 17
Options :
1. %1
2. %2
3.%3
4.44

Question Number : 5 Question Id : 496901215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the number of sides of a regular polygon?

8 S0 parmoging r.fmgzr Zoaanoe 03351'?

I.  The sum of the angles subtended by the sides of the polygon at the centre is 21
racians

ErayoEineg CﬁDSEJ £oensnen Sodan la) i)dgf}é» Emane 200650 21 Gdcd)im

II.  The number of diagonals of the polygon is 35

EraTOgined cﬁ:oSEJ Sga_‘mo R:»oa;}g 35
Options :
1. % 1
2.¥2
3.%3
4. % 4

Question Number : 6 Question Id : 496901216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If A, B. C are the angles and a. b, ¢ are lengths of the sides opposites to them respectively.
then. is the triangle ABC equilateral?

A, B, C en Feren 900§ o708 00T 6ol Zhaane JFEpe 90 oo a.b,c,

21 L3003 e9A ) ddbao ABC Raverary @ibesar?

a b c

cosA cosB  cosC
II. A+B+C=nm
Options :
1.¥1
2. %2
3.%3
4. % 4

Question Number : 7 Question Id : 496901217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What is the rate of compound interest?

@8 D¢ 360 Joe?

L)

Interest for the first two years 1s Rs. 3801

D0GE Do HODB\T™O aé dar. 3801

1. Interest for the second year alone is Rs. 1991

BoGa DodsyOo e.JSL_c:PK‘.-é m_:i}; ar, 1991

Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 8 Question Id : 496901218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

What is the area of the path around a rectangular field?
&g BACTT Y Too dogar &) &R0 DFO0 Jod?
I,  Rectangular ficld has area 190 m’

&g SEOFS 0 Teo pFego 190 ©B5.20.00

II.  The width of the path is 2m

ETE) DERDY 2 o0

Options :
1. % 1

2.% 2



3. %3
4.¥ 4

Question Number : 9 Question Id : 496901219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
How is A related to X7

X & A HososAndn ?

I, Xis the daughterof Y

Y 011)537 srad X

II. Y is the daughter of A

A @ing) sPad@ Y
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 10 Question Id : 496901220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the first term of the Geometric Progression?

e FC O0E), DG DGO AE7?

I  Product of 3 and 7™ terms is 6400

3 a0boin 7 O aore 80 6400

1L 5% term is 80

5 & 230 80

Options :
1. % |
L% 2
L% 3
.4

AW oD

Question Number : 11 Question Id : 496901221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



1
Is (a@® + b?)3 an integer?
3,
(@ + b*)F Lrgrosar?
I.  aandb are positive integers.

a, b en O3 Jrdosten

. (a®+ b?) is equal to the volume of a box whose dimensions are 12 x 18 x 125

12 x 18 x 125 Fosen o DG ohng), o d8arso (a® + b?)
Options :
1. %1
2.¥2
3. %3
4. % 4

Question Number : 12 Question Id : 496901222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the cost price of the pen?

=130 cﬁné‘b é"éﬁ‘l D Joés?

I.  The selling price of the pen is Rs. 50

=13 CBJJS'LJJ eaa’béé ey dyx 50

II.  The profit is 25%

erédo 257
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 13 Question Id : 496901223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the value of cos* 8 +sectg?

cos*@ +sectd Densd Joed ?

I. sec’B@—tan?g=1

1L cos@ + secd = 2
Options :
1. % 1
2.¥2
3.%3
4.8 4



Question Number : 14 Question Id : 496901224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the height of the vertical pole AB?

DEFOTT ol 50 AB TG does?

. Seen from a point C on the ground. £ACB = 60°

e 6 Docoed C Hod ard LACE = 60°

I

I
£

= 60m ()

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 15 Question Id : 496901225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Is x =37

X >y 9aneor?

IL. yl—-6y+12=2y—4
I x*—4x+4=0

Options :
1. % 1
2. %)
3.¥3
4. % 4

Question Number : 16 Question Id : 496901226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many grand children does A have?

A 20 D08 Q0od QoMDaen /S mmmcvma Eﬁ";lci) e

I. A has one son and two daughters.

A D 28 DAFD), APAR SDAFTLO &) .

II.  The son of A has 2 daughters and each daughter of A has 2 sons.

A @08, SH0mAs Agd Sardew, A 0I0S), cgé"bsb S20705) A QTR &T7) M
Options :
1. % 1
2. %2
3.3



4. % 4

Question Number : 17 Question Id : 496901227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the median of the frequency distribution?

Trn 20 DeTrB AR TN SOG] (BED Jos?

I.  The Mean of the distribution is 52.

BT T A e oj;uéb mcjgom&‘n) 52

II. The Mode of the distribution 1s 55.

BT E ) ojmsb EFaTPOWES) 55
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 18 Question Id : 496901228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the probability of drawing a white ball at random from a bag?

w8 Do A0l B L0HD CIFrGDN ST SRED Dograge Jod?

I.  The bag has a total of 15 balls,

20te5° 15 proien &™) o

II.  The bag contains white balls and black balls.

€3 0e)e)” @eNY) LI0ERD, DY) LIOEAIL &) 0.

Options :
1. %1
2.%2
3. %3
4.4 4

Question Number : 19 Question Id : 496901229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



How much of canvas is required to erect a conical tent?

F023) e300 mmo"ﬁl}cl b&éoﬁc:“né 0D (G geaed) ?

L The diameter of the base of the tent is 10 meters.

RO Brad arjRan 10 Doedd

II.  The cost of canvas is Rs.100 per sq. meter.

g pda ar 100/9.20
Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 20 Question Id : 496901230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the fifth term in a sequence of consecutive even integers?

DAD DO Yrgosmen wE FedS® 5 D Deto AB?

I.  The sum of the first two numbers in the sequence is 34,

0500065 ZIEE) Toc Dowje Do 34

II.  The difference between any two consecutive numbers is 2,

EJSETE)S&& &ol Doty ENGERLE &co 2

Options :

1.¥1

2. %2

3.%83

4. % 4

Sub-Section Number : 2
Sub-Section Id : 49690115
Question Shuffling Allowed : Yes

Question Id : 496901231 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (21 to 30)
Question Label : Comprehension



Problem Solving 220305 6
Sequences and Series @X0EIreD, Frwew

Note: In each of the Following 10 questions a sequence of numbers or letters that
tollow a definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence without
breaking the pattern.

RrSd:  So0 TS 10 HF) 0 1A 23S0 2D Dowen TP e D w8
S20GROD JoPAry TP ow. PE BH S 2OV FDYD Teud DAy
Aood DB ead  ®TTRLMAD .DKD;LE‘QS 0850 Lahardd oo Sewiitione
2rdozed.

Sub questions

Question Number : 21 Question Id : 496901232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
7:336:6:;
Options :

L% 284

, ® 248
3 @ 210

176

Question Number : 22 Question Id : 496901233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
2C4 : 6GR:: 14016

Options :

1. % 911

5« 10K12
3. % 11113

4w 12M14

Question Number : 23 Question Id : 496901234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A6E : 11240 ; 036U

Options :

| % ESI



, x E101

5  E121

4« El4I

Question Number : 24 Question Id : 496901235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
6t 357 323

Options :

1% 83

) % 137
3 o 143

4 ® 247

Question Number : 25 Question Id : 496901236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
% 120057

Options :
1 &% 165

1440

2520

w
®

4.« 5040

Question Number : 26 Question Id : 496901237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
March : 27 :: Apnil :

Options :

| 64



Question Number : 27 Question Id : 496901238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
PINK : KNIP ::
Options :

READ : DEAR

1. #

) READ : DAFR

3 DARA : DRAE

4, % DEAR : READ

Question Number : 28 Question Id : 496901239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
441 : 961 = 131
Options :

. #% 51

o w4
3 ¢ 21

4. % 11

Question Number : 29 Question Id : 496901240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

(X% —8X +15):(3,5):: :(8.9)
Options :
2
| w XE—9X+18

, % XP—11X+36

; w XP—15X+60

4 XEP—17X+72

Question Number : 30 Question Id : 496901241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[; 421]:[1?5 %g "[_31 —24]:

Options :



[—_175 —1202]

[? ~10
, W 115 =22

[—7 —10}

3 % —-15 =22

[ 7 —10]
4 15 22
Sub-Section Number : 3
Sub-Section Id : 49690116
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 496901242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the Following questions pick the odd thing out.

3065 AOND D3\ 065 8 TFIA (HBAD
Ry e g_ -]

Options :
157

®

Question Number : 32 Question Id : 496901243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the Following questions pick the odd thing out.

3063 2D VB S’ D0 TG HGousddw
Options :

| % BAN

5 % MAIN

% PAIN

W

v RAIN

Question Number : 33 Question Id : 496901244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
In the Following questions pick the odd thing out.

306 adND ©F) 0B’ 28 TS oo
Options :

w1441

, w 1661

3 ¢ 1771

4 % 1991

Question Number : 34 Question Id : 496901245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the Following questions pick the odd thing out.

306y AOND D3\ 05 28 TS (DB
S 03 8

Options :
| w 23.13)

5w (3.4.25)

i
5w 54D

(5.6.71)
4.

Question Number : 35 Question Id : 496901246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In the Following questions pick the odd thing out.

3063 2D VB S’ D0 TG HGousddw
Options :

| % VIOLIN

, % VEENA

; % SITAR

4 v FLUTE

Question Number : 36 Question Id : 496901247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Note: The following questions follow a definite pattern. Observe the same and
fill 1n the blanks with suitable answers.

B0 DE: S0l BN DI en € DDYBIEND DoDAFYY FBLOT 0w, €
QoD (500 HBAWD DEFEFTOE rdeiy rdodod.
8. .12, 20, 28, 44. 52,

Options :
1. % 56

5 % 60

L% 64

4.v 68

Question Number : 37 Question Id : 496901248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill mn the blanks with suitable answers.

50 DE: lela) -'ax'.’)r)é DL E PDNBOND JaDATEDY TSR ow. e
DaRBr) BDeD) HBALA DAFFrTrOS rdoRn Lrdoded.
26,50, 122, 170,

Options :
| #% 289

) w 196
3 % 197

4 290

Question Number : 38 Question Id : 496901249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

0 DE: Sods 'QC}L)R') D30 28 DANBHOND JoDIEY) FOYPT)ow. &
DaBr) B HBALA BAFFFTrOS erdotn rdoed.

13.34, 74,170, 290,

Options :

1. % 455

, o 458



3 % 394

4 % 380

Question Number : 39 Question Id : 496901250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

He308: S0t NS D en wf DDYBAND DoDErD) FBLTYow. e
DaEr) (Do) HOALD PITFEETrS ardoiy L0olod.

12C, 23E, 34G, 451, 56K,
Options :
1 ® 67L

, ¢ 6™
; & 67N

4w 67K

Question Number : 40 Question Id : 496901251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

B0 DE: S0l BN DI en € DDYBIEND DoDAFYY FBLOT 0w, €
Deard) (Do) LB VIS arduiy L0olod.

w
o
b2

|
n|ﬁ

61
11

ﬂ
4, % 11

Question Number : 41 Question Id : 496901252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Note: The following questions follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

B0 DE: S0l BN DI en € DDYBIEND DoDAFYY FBLOT 0w, €

Deard) (Do) LB PITFEETS arduiy R*0olod.
27 64 125 216

8
51

o 17" 26" 37’

b2 | =
.

Options :
L)
1. % 48

343
2. 30

343

343
4 % 4

Question Number : 42 Question Id : 496901253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill 1n the blanks with suitable answers.

B0 DE: S0l BN DI en € DDYBIEND DoDAFYY FBLOT 0w, €
Daard) (Do) LB VIS arduiy L0olod.
335 372 422 50,

Options :

Question Number : 43 Question Id : 496901254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill mn the blanks with suitable answers.

B0 DE: S0l BN DI en w8 DDBIAND DoDAFIY FBLOT 0w, &
DaBr) BDod) HBALA BAFTTOS PPy Lrdoded.



2.-1.5,-7,17,-31, 65,
Options :
1. ® 96

107
2. W

3w -108

4. =127

Question Number : 44 Question Id : 496901255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill m the blanks with suitable answers.

0 DE: Sods 'QC}L)R') D30 28 DANBHOND JoDIEY) FOYPT)ow. &
DeLEP) (0o LB DIrTFTOE ardosy Rr0oted.
. FEVU, HGTS. JIRQ, LKPO

Options :
|« DCXW

, ® EDYX

, » EFZA

, % DEAB

Question Number : 45 Question Id : 496901256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Note: The following questions follow a definite pattern. Observe the same and
fill mn the blanks with suitable answers.

50 DE: lela) -'ax'.’)r)é DL E PDNBOND JaDATEDY TSR ow. e
DaAP) (0o LB VIS ardosd R0oted.
FOU.I16R. L250, O36L.

Options :
497
L ® Q49]

, » R49I

5w S49M



4 % P49N

Sub-Section Number : 4
Sub-Section Id : 49690117
Question Shuffling Allowed : Yes

Question Id : 496901257 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 48)
Question Label : Comprehension

Data Analysis

Ggro? D3am

Note

The following table gives the sales of toys (in thousands) of types A, B.C.D.Ebya
company in 3 years from 2014 to 2018. Based on this information given in the following

table answer the questions

AT

28 RJG“%) 5 dga0e A B. C.D. E & e3t3 $0eperedd 5 ”‘n:roa@bc"w 2014 sood 2018
HOL BAIrEm S0od, D LA SO (DHee®) & 306 DYSS” AOLEe wBRA. DO

BT0OT YN VIV DATTD0 QIG0C..

Type (6%0) —

A B C D E
lyear ( RosddGo )
2014 210 160 88 100 75
2015 170 190 110 15 80
2016 200 185 102 120 95
2017 215 170 130 135 125
2018 230 195 140 145 a0

Sub questions

Question Number : 46 Question Id : 496901258 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The year in which toy of type *C” registered highest growth in sales over the previous
years.

C 05200 e58) DRV )T A0 D0DSBT O f}“&&@ BSOS DHMGY (o
7\)00‘_)@'300
Options :

| s 2015

, # 2016



3.« 2017

4 % 2018

Question Number : 47 Question Id : 496901259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The e of toy that registered highest percent of sales in 2017 over its previous vear 1s
3 ¥ g g I I ¥

2017 &5° esoedsy S0ty Qo&i}@jﬁo{bﬁ ) @ A DOMER TO0 SHDBDD et

e 080
Options :

Question Number : 48 Question Id : 496901260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The percentage of increase in sales of toys of type B in the year 2018 in comparison with
the year 2014 is
2014 205800 (DS 2018 &° B 05200 e58) SO AT DAXDEL TS0
Options :

| 20375

21.875
5w 23475
4 % 25125

Sub-Section Number : 5
Sub-Section Id : 49690118
Question Shuffling Allowed : Yes

Question Id : 496901261 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (49 to 53)
Question Label : Comprehension



Note

The following Pie chart depicts the distribution of Annual expenditure of a company
under 6 broad heads. Based on this data answer the questions 49-53

ArH

28 20R VodSy0Ry) afoirdy 6 c8anewond dgyen A.B.C.D.E.F ™ Desesoc) )
DT & Jobd Heoe)® ToDOL) o) M. & RArErTEY) eDoIrhod)
£08 S VBV aTren QOLC

Sub questions

Question Number : 49 Question Id : 496901262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the expenditure under the head A 15 Rs 60 lakhs what 1s the total annual expenditure of the
company? (in lakhs of rupees)?

DE0 A &° dgae dr 60 L& oNS &5 R0g T9E D00 Joed (er500e5°)7
Options :
1 ® 650

, @ 720
5w 900

4 % 1050

Question Number : 50 Question Id : 496901263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What 1s the percentage of the expenditure of the company under the head E i the total
annual expenditure of the company?

€3 2000 D708 HFoN0 e5° E Dece™D DFomo Doy Fe30?
[~} | o

Options :



| %
=)
43=%
2.0 % 9
4y
3.
4% A45—%

Question Number : 51 Question Id : 496901264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the ratio of the expenditure under the heads B, C and D put together and that of
the heads A and F put together?
B,C,D EJCDDUQS'&:} sigodo A, F e85 DA DG Dod?

Options :

| & 15:17

, % 17:21
3 % 19:21

4 o 2119

Question Number : 52 Question Id : 496901265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the company cut down its anmual expenditure by 5% and 20% under the heads Eand F
respectively the new degrees in the section E and F in the pie chart will be respectively

&R E L F ag«meﬁ"‘ SD Savom 57, 20% ajgojyﬁ)& @Qomﬁboéj N E, Fo

Fe Chen ot
Options :
40 0
L 1617 . 55

150° , 550
2. *

. 145° . 60°

" 140° , 65°

Question Number : 53 Question Id : 496901266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

If the company decides to ereate an extra head of account G by transferring 10% and 20%
of its expenditure under the heads E and F respectively, the sectorial angle 1n the pie chart

for G will be

€2 Do FE Hyon Db G W annbm D057 sty E, F & Sood oo 10%,
207 d5airvs0 ©68 3ot By G dng, 56 S

Options :

1. % 27°

0
2v 2

;x 31°

36°
4. *®

Sub-Section Number : 6
Sub-Section Id : 49690119
Question Shuffling Allowed : Yes

Question Id : 496901267 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (54 to 55)
Question Label : Comprehension

Note
In a class of 80 students. each student chooses to play at least one of the games A, B. C.
Out of them 43 play game A, 35 play game B, 30 play game C. Also 13 play both A and

B. 10 play both B and C and 5 play all the 3 games. Based on this information answer
questions

AR

80 200 DT HERD &) w8 BOMHS" DA w8 M AB.C e’ D& ws et
BEOTPM.45 0B A & 35 @0od B & 30 dvod C 0 ecHTrm. o 575 13 dod A,
B &0 Doc.edd) dwdain 10 dwod B, C &0 Docéd?) eschrardy. 5 anod durdotd?) escardy.

DD e3rrGo T SR8 Sold BN 03) 09O TRV oraiol

Sub questions

Question Number : 54 Question Id : 496901268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The number of students who play exactly one game is
28], 8L Aro BE DTHDLO Doy Jos?

Options :
1% 8



5 % 6

4. ¢ 55

Question Number : 55 Question Id : 496901269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The number of students who play games A and C but not B is

A, Cen Docotdd esc. B &0 esitD Dﬁ“ég)?_} R0y ot ?

Options :

) w 12

Sub-Section Number : 7
Sub-Section Id : 49690120
Question Shuffling Allowed : Yes

Question Id : 496901270 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (56 to 60)
Question Label : Comprehension

Coding and Decoding Problems
£aoh, A6 Ddodgen

Note
The 26 letters of English are given ranks 1.2....26.1n the alphabetical order. Then for
1 <r < 26.r" letteris coded as k™ letter where 7r + 3 = 26M + k where 0 < k <

25and M € Z. When k = 0, k™ letter is coded as ‘Z. For example the letter ‘E” is coded

as ‘L’ because whenr = 5and 7r + 3 = 38. then k = 12 and 12" letter is °L". For
decoding the reverse process is used. Based on this answer the questions

PR

Rofia esoare & 26 E0A00L 1.2.......26 &5 Frodn BLoare gavoes” QI D,
1 <r<26Drawsod) 7r+3 = 26M +k 0= k = 2500050 M € Z e9ddy
DEADT k D 950D §'E ST 0. k = 0 900D kD 0goed) 7 ™ §E 3.
eorironty ‘BT 5 O e80o0, 120 @800 @ond ‘L’ m 5 So0ed 6. oS

r =beond 7r +3 = 38 wandd’ k = 12. £8CoA D D' DS DTN,

DB eserdo T SADD PBY) VL eTdaec

Sub questions



Question Number : 56 Question Id : 496901271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
BAYER is coded as

BAYER & §&
Options :
|« QIVLY

, x QIWEX
; = PIVKX

4 % PKWLY

Question Number : 57 Question Id : 496901272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of letters that remain unchanged in this code is

& B'E & arcny G2 wsore 2oy
Options :

1L« 0

Question Number : 58 Question Id : 496901273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of alphabets that are coded to their next letters is

S0P ddanas) & dabods esore Roag
Options :
. %0

Question Number : 59 Question Id : 496901274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which is coded as ‘TIMEX"?

‘TIMEX v & Soheddd 267
Options :

| % MNPLO

, % TMUCD
3 % MNQKP

4 « ULTDC

Question Number : 60 Question Id : 496901275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The word ‘SPECTAL’ is coded as

SPECIAL & §&
Options :

L FELXNIT

) FLEXNII

FELYMII
£

4 % FLEYMIT

Sub-Section Number : 8
Sub-Section Id : 49690121
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 496901276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If ‘GUNTUR’ is coded as ‘RUGUNT” and ‘NELLORE" 15 coded as ‘ERNELLO’, then
the code for *SRIKAKULAM 1s

‘GUNTUR’ 20 ‘RUGUNT’ te0, ‘NELLORE’ &0 ‘ERNELLO’ rrare 86 89

‘SRIKAKULAM'& 8¢
Options :
| % MASKRILKUA

5 % MASRIKULAR

3 # MASKKRAULI

4 v MASRIKAKUL



Question Number : 62 Question Id : 496901277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
I *CALCULATOR’ is coded as ‘ACCLLUTARCQ’, the code for ‘COMPUTER is

‘CALCULATOR® & ‘ACCLLUTARO = §& @R, ‘COMPUTER® £ BE
Options :

REUTPMCO
1. #

) % RTPOEUMC

OCPMTURE
3.¢

" OMCPTRUE

Question Number : 63 Question Id : 496901278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘If ‘“DELHI 15 coded as “73541" and CALCUTTA is coded as 82589662 then the code for
CALICUT is

‘DELHI” &> ‘73541 redn CALCUTTA &o 82589662 mradvoe € 35 CALICUT % §&

Options :
| % 8520186

8251896
v

3 % 8519652

4 @ 8129625

Question Number : 64 Question Id : 496901279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If ‘BATING' 1s coded as ‘URKFIX’ then the code for ‘MASTER is

‘BATING’ & ‘URKFIX m §& 35 ‘MASTER’ % &
Options :

L * WITPEV

, v XOVQIW

3 % XITQEV



4 % WOVPIW

Question Number : 65 Question Id : 496901280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If ‘PRIME" is coded as ‘MPUKQ’ then ‘ANGLO" is coded as

PRIME’® s0 ‘MPUKO’ m §& o CANGLO' & g&
Options :
| % IKDHU

, % ELDIA

3 ILDJA

4% EKDHU

Question Number : 66 Question Id : 496901281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
38, davao, wadge DRIED

How many days are there from 2-1-1988 to 15-1-19897 (both days inclusive)
2-1-1988 Aol 15-1-1989 50 (Dot Farod gennHN) 2y Faven daryon?

Options :
|« 380

, w 379

Question Number : 67 Question Id : 496901282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
88, davao, wabLe DRI

How many times the hands of a clock will be at right angles in a day of 24 hours?
8 (ICOITC0eS"D Dot auenen 24 (ot o 2.8 Beres® 2y @ vov redy
DoNGFan?

Options :



Lot

Question Number : 68 Question Id : 496901283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
88, dadvabo, wddse dD D

Five people L. M. N. O, P are arranged in a line according to their heights: M is on the left
of N, O is on the right of P, who is on the right of N whereas L is on the left of M. Who is
in the middle?

DEOMDA S5k LM.N.O.Ped o8 J8005) e:besor™ s S eacdTw. N £
S M, P £ Sc 22 O, N 8 Soca) P, M £ 2€a0pd) L &) . mcj?ge_ﬁ'ﬁ
DM & M7

Options :

.# L

4. %

Question Number : 69 Question Id : 496901284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
88, dadvabo, wddse dD D



The Blood relationships of three persons are coded as follows:

(i) + means “is sister of™:
{(ii)  —means “is father of™

Then in the L+M and M—N, what 1s the relationship of L to N
Q0O S G 0 Hoorren & S08 DGoT FE BT

(1) + T ol dor e aws) Fod
(i) _ oo ood Sor e mng), Sod. By L+M 0 M-N' & L & N
& e Dooodio D5
Options :

Maternal Aunt
8. o,
Dy g0 DG

Maternal Uncle
) % DBAFD

Paternal Aunt
s o 00

Paternal Uncle
{‘U:Pcl:: go E)(ga“cb‘l

Question Number : 70 Question Id : 496901285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
88, davabo, wddse DD

A priest told the devotee that the temple bell is rung at regular intervals of 50 minutes and
the last bell was rung 10 minutes ago. The next bell 1s due to be rung at 6.45 AM. At what
time did the priest give that information to the devotee?

50 DDOEEIO LA fotied ATMHEIFOL ) BHAS HPerd daryd. 10 dware Sdo
(DC oLy DIFTTPo0). BT oty 6.45 a.m 2 Qo). H5as & HIorarGo Qyerd
D DO’ BaryE>?

Options :
L% 6.10 AM

g
, o 005AM

6.00 AM
3. %

L% SS55AM



Question Number : 71 Question Id : 496901286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
38, davao, wadge DRIED

A meeting is scheduled at 11 A M. Mr. A arrived to the meeting 37 minutes earlier than
Mr. B who came 12 minutes late to the meeting. If Mr C arrived 21 minutes after A's
arrival, the time at which Mr C came to the meeting is

8 Dard3o 11 AM £ gonodeddd. Hard7d3 12 Ddosren oo B Hze @,
B Sot3 37 DDoaren a0 A ST, A o3 21 DAV BOTS C DTy
AIFDTIS C Dy Davabo.

Options :

| v 1056AM

1102 AM
2. %

3 ® 1047 AM

10.50 A.M

Question Number : 72 Question Id : 496901287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
38, davao, wadge DRIED

A train X came to the station 42 minutes later than its scheduled time. But 1t came 21
minutes before another train Y which came 36 minutes before its scheduled time 11.47
P.M. The scheduled time of arrival of train X at the station is

@S Do X o7 DGonodet.d Davole 7y 42 DInaren RIDFOTT DD £ kol
50 ead) Den Y gofd 21 DInaren Aodonr Oyod. Y Dgononeed pavodoe 11.47
p.m 5:}:1 36 Dvaren awotoe &‘JJJ'}OC). (] f{gt’q&‘n& X o8y gomeded.d Danoio
o7

Options :

L& 10.08 pm

) % 10.13 p.m

3 % 10.21 p.m

4 % 1056 pm



Question Number : 73 Question Id : 496901288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
38, davao, wadge DRIED

If +, —. X and =+ represent division. multiplication subtraction and addition respectively.
then 42 +3 x 15— 14+ 6 =?

+, 7 X T D DO FTFTE)) MBST D) . SHIS, SPCSA APDY BN
42 +3x15—14+6="

Options :
| % 202

-
2. % A

3 o 10

4 % 105

Question Number : 74 Question Id : 496901289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
88, davabo, wddse DD

x*y=x+y+xy.x@y=x%+y% then |3+ (465) — (3+4)P5|=7
x*y=x+y+xy.x@®y=x>+yleond, |3+ (4G5 - (3+4)P5|=7

Options :
1. ® -108

5 o 219
3w 219

4 % 108

Question Number : 75 Question Id : 496901290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Date, Time & Arrangement Problems
88, davao, wabLe DRI

man= m;n ,mpn = %.men(Sﬁ'lZ)a(lﬁﬁ?) ==
+ - r
man= mzn ,mfn = % esond, (3812)a(1687) =7

Options :



1. ® 8
2. % 74

345
3. % 4
4.0 37

Mathematical Ability

Section Id : 4969015
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 75
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 49690122
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 496901291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
image>Q76_apicet_set12020 ql11915512.jpg
Ha+b+c=0andx =y+ z then

(x—a)? (y + b)? (z+0)*
G+b)z+e) (x—a)z+c) x—a)y+b)

a+b+c=0=0 DB X =Yy + 2z oNB, DD

(x—a)” (y +b)? (z+0?
v+b)z+c) (x—a)z+c) (x—a)y+b)
Options :
1. I
2.3
-3
3. %
4.8 0

Question Number : 77 Question Id : 496901292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



image>Q76_apicet_set12020_q11915512.jpg
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2nx5m+1x10m —nx15m+n—2
4m oy 32mtn pom—1
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Options :

1/3
1. #

4 s 103

Question Number : 78 Question Id : 496901293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
image>Q76_apicet_set12020_q11915512.jpg

Two stations P and Q are 378 km apart. A train X leaves P for station O and at the same
time another train ¥ leaves O for station P. They start moving towards each other and meet
after 4 ¥ hours. If the train X is 26 km/hr faster than the train ¥, then the ratio of the speeds
of the trains X and ¥ is

P 0803w Q ©d Tocd pdaane @) crdo 378 3.80. X @ geveod Paved Q
DNHL, 9B DaoDANS” Y o FE feveod Q Mol P pinah wobendorow.
57D PINALY B L DTy 3 Ty 4 12 (ow) ST S ST 0. Jewod X,
Jenerod Y Soel 26 3.50/008) LN D Driod Fevod , &5 Tew w0 X doid Y Drioe)
DD

Options :

| % 5327

L
n
i
)

51:31

4 % 49:34

Question Number : 79 Question Id : 496901294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
image>Q76_apicet_set12020_q11915512.jpg

The cost of 5 apples is equal to the cost of 7 mangoes. If the amounts paid for x apples and
¥ mangoes are in the ratio 14:15. then 3x:4y=

5 e Do HOE 7 arand Do HEEIDL Darde. X B0 Dogs dvdoiy ¥

A0DC DOLL Z‘)z‘l}ao&a’s ﬁ“acméu Ay 14:15 2300063, DD X : 4y =



Options :

[}

[ B

Question Number : 80 Question Id : 496901295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
image>Q76_apicet_set12020_q11915512.jpg

— 2
If x = /8 + 2v/15. then (r +%) =

2
x =8+ 2715 evand. NN ED (x + %) =
Options :

2. % 16v5

2
3.0 20

% 2045

4.

Question Number : 81 Question Id : 496901296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
image>Q76_apicet_set12020_q11915512.jpg

Ifx=2++3 and xy = 1. then

X y

ZvE i-

x =2+ 3 B0 xy = 1 9008, ek

x y

VZ+vE N2—y

Options :
1. 1

v V2

V3

3 %



1
4.8 V2

Question Number : 82 Question Id : 496901297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
image>Q76_apicet_set12020_q11915512.jpg

If 19° + 21° is divisible by p, then p=

19° + 21° &6 p S0 oDOED | NN P =
Options :

20 but not 40
| % 20, 502 40 s7c

40 but not 100
5 % 40, 5= 100 5°c

100 but not 200
3 % 100, 579 200 57

4w 200

Question Number : 83 Question Id : 496901298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
image>Q76_apicet_set12020_q11915512.jpg

712 — 412 §5 exactly divisible by
71 — 412 ©938 62 30 DB AoDEEBI0E

Options :

, % 32

Question Number : 84 Question Id : 496901299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
image>Q76_apicet_set12020 _q11915512.jpg

The LCM of two numbers is 20 times their HCF. The sum of their LCM and HCF is 2520.
If one of those numbers 1s 480. then twice the other number 1s

B0t o 8.37.0, oo 0. . & Sotd 20 T, o7 5.0 aBCIL (.72 © Dwgo
2520. 65" 28 Doy 480 e900@, ey a1 oy g Do

Options :



| % 1260

, 1200
5w 1080
4 % 940

Question Number : 85 Question Id : 496901300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

image>Q76_apicet_set12020_q11915512.jpg
The HCF and LCM of two numbers are 21 and 4641 respectively, If one of those numbers
lies between 200 and 300. then the sum of those two numbers is

Boc Do (. Fv. 237, 2Bk £, &0 HADM 21 ddain 4641. &5 Doaees” w8
200 anBain 300 o6y 535;3?3@0 20008, €924ED €3 G0t Vo) DB

Options :

L 630

L, 350

3 % 740

860

Question Number : 86 Question Id : 496901301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
image>Q76_apicet_set12020_q11915512.jpg

192 x 576 + V1296 + 10 = x> + 144 + V49, then the number that comes in the place
ofxis
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IfV94.09 + 623.45 — 125.44 = ?)— 3\;’@ then the number that should come 1n
place of (?) is
V94.09 + 623.45 — V12544 = (?) — V6859 w0, ey (?) Jrodoes” 58
BoDDOVD Doy
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IfA=+vV7—+vV5.B=+vV5—+3.C=+v9 —+7and D = V11 — /9. then which one of the
following is a correct ordering?
A=v7—+/5.B=+5—3.C =97 bamw D = V11 — /9 e0nd. eipy &

208 o725’ DA DBoWD Eavan?
Options :
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The greatest among the numbers V2. V3, V6 and Y15 is

V2,3, V6 andamn V15 Doagees* (183 2006
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A trader marks the price of an article 40% higher than its cost price. He allows 5%
discount. Had the cost price been 209 higher and discount 15%, he would have sold it for
Rs. 98 more. Then the cost price of that article (in Rs)) is
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The ratio of the cost price to the marked price of an article is 1:3 and the ratio of the
percentage profit to the percentage of discount is 3:1. Then the discount percentage is
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Two watches are marked up with the same price. The first watch is sold at 20% discount
and the second one at suceessive discounts of 10% and 10%. The cost price of the first
watch is half its marked price and that of the second watch 1s 10% less than the cost price
of first watch. If the profit on the second watch is Rs. 1080, then the selling price of the
first watch (in Rs.) is
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A Vendor has purchased some milk at Bs x per litre and mixed water so that the ratio of
milk and water is 3:2. He then added 10 litres of water in the container and sold the mixture
at the rate of Rs. x per litre, If he made a profit of 100%. the amount of milk in the
container (in litres) is
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A starts a business with Rs. 12,000, After 2 months B joins him with % of the investiment of

A and A withdraws Rs. 3.000. After 2 more months. C joins them with Rs. 6000 and again
A withdraws Rs. 2.000. At the end of the year. 1f C receives Rs. 1.872 as his share of profit.
then the total profit they derived (in Rs.) 15
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Anil and Sunil started a business with investments Rs. 56.400 and Rs. 64.800 respectively.
After 4 months Kamal joined them with Rs. 72.400. If the difference between Kamal’s
share and Sunil’s share in the annual profit is Rs. 1.240. then their total annual profit (in
Rs.)is

9265 S0BaIL 5T en S dr. 56,400 sobaty dr. 64,800 e a8 m@%“t}“:)‘l
F0DT ). 4 DOV BOTS a0 T°BD dr 72,400 oF SHHT ). DodeTroso
206" Sa065 T aBoIL WS rEre Y Bco Ar.1,240 ©00d. DN IHWm
"foo‘DESDU"o@oeﬁb 20arOood erdo (ar.eeit)

Options :
| % 14.790

13.520
£

3 % 12760

4 12,710

Question Number : 96 Question Id : 496901311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
image>Q76_apicet_set12020_q11915512.jpg

A pipe can fill a tank in 16 minutes and a second one in 24 minutes, A third pipe can empty
that full tank in & minutes. The first 2 pipes are kept open for 4 minutes in the beginning
and then the third pipe is also opened. Then the time (in minutes) in which the tank will be
emptied after all the three pipes started working simultaneously.
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Tap A fills an empty tank mn 1 hour and tap B empties it. Third tap C fills that tank in half
an hour, All the taps are opened when the tank is full and the tank gets emptied in1 1 hour,
Then the time (in minutes) tap B alone empties it. is
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The distance travelled downstream by a boat in 3 hours in 12 km more than the distance
travelled upstream by the boat in the same time. Then the speed of the current (in kmph) 1s
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A person swims a certain distance downstream in 45 minutes and comes back upstream in
120 minutes, If the speed of the stream is 3km/hour, then the speed of the swimmer (in
km/hr) in still water is
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A can complete a task in 27 days and B is thrice as efficient as A. A started the work. and
after a few days B joined him. If the whole task was completed in 12 days, then after how
many days from the time A started working. did B join A?
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5 women and 28 men can do a piece of work i 25 days. If women are found 40% more
efficient in that work than men. the time (in days) required for 10 women and 11 men to
complete 5 times that work. is
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Co 1
A playeground of area 2430 sq.mt is built on 5 of the area of a rectangular plot. The length

of the plot is ten times the breadth of the plot. Then the perimeter of that rectangular plot
(i mts) is
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The breadth of a rectangle is 60% of the diagonal of a square of area 625 sq.cm. If the

perimeter of the rectangle is 84v2 em. then the area of the rectangle (in sq.em) is
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An open box is made of wood with 3 cm thickness. Its external dimensions are 1.46m.
1.16m and 8.3 decimetres. The cost (in Rs.) of painting the inner surface of the box at Rs. 5
per 100 sq.em 1s
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A well with inside diameter 14m is dug 10m deep. Earth taken out of it is evenly spread all
around it to a width of 21m to form an embarkment. The height (in meters) of that

embankment 15
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A conical shaped tent of height 14m with a floor area 346.5 sq.m is to be built with a
canvas of width 1.1m. The length (in mts) of the canvas required to build that tent is
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There are two cones such that the curved surface area of the first s twice that of the second.
If the slant height of the second is thrice that of the first. then the ratio of their radii is
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Four coins each of diameter lem are placed on a table such that the rim of each coin
touches the rim of two other coins. The area of the unocecupied space between those four
coins (in sq. em) is nearly
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The binary form of 1.000 is
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The remainder obtained when 919 is divided by 8. is
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Algebraic and Geometrical Ability

DA, 2gSab an.mgﬁa

Which one of the following options is a tautology?
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Algebraic and Geometrical Ability
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The statement p = ¢ is equivalent to
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Algebraic and Geometrical Ability
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In a market survey on 1000 consumers, 720 consumers liked product A and 450 liked
product B. The least number of consumers who liked both the products 1s
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If A is a set with n(4) = 5. then the number of reflexive relations on A is
n(4) = 5 & A 28 2208 ©ond, A PO DTDGR DOLIOGHNY 0§
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Algebraic and Geometrical Ability
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Iff:R— Risdefined by f(x) = 2x + |x| and f(3x) — f(—x) —4x =k f(x). then k=
f:R— R gdoabe f(x) = 2x + x| o= dogedec awdaiw f(3x) — f(—x) —4x =
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Algebraic and Geometrical Ability

Ddan, 2rgodap avmgsa

If the point (—2, 3) divides the portion of the line between the coordinate axes in the ratio
2:3. then the equation of that line 1s
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Algebraic and Geometrical Ability
DA, 2gSab a»mgﬁa

The equation of a line passing through the point (2. 3) and making an angle 45° with the
lime3x —y+5=0is
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Algebraic and Geometrical Ability

DA, 2;dabH a-mgﬁa

For 0° < 8 < 90°. which one of the following cannot be the value of tan 8 + cot 87
0° < @ < 907, & 30 75" DO tan d + cotd CB0E), DeVD S BV
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Algebraic and Geometrical Ability
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8
*” = 3. then the value of sec@ =

l1—zin @

If
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Algebraic and Geometrical Ability
DA, 2gSab a»mgﬁa

A flagstaff of 5 mts high stands on a building of 25 mts high. For an observer at a height of
30 mts, the flagstaff and the building subtend equal angles. Then the distance of the
observer (in mts) from the top of the flag staff is
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Number of positive integers x for which f(x) = x® — 8x? + 20x — 13 is a prime number
is
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

Ddan, 2rgodap avmgses

Ifx+£= 5. then x? +%=
x E- 4

2 < S
X +— =5 0008, oy@ X"+ 5=
Options :

i
1. % 6=

527

4 % 525

Question Number : 124 Question Id : 496901339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

DA, 2;dabH .av.mgﬁes

The value of @ + b for which the polynomial 3x* — ax? — 74x + b is a multiple of

x? 4+ 2x —24is

3x° —ax? — 74x + b 9D exr0ond x* + 2x — 24 03w, (wedwo 5203, @ + b oI,
0.

Options :
1.v 19

, % 12



3 % 9

'L

Question Number : 125 Question Id : 496901340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddap, 2rgodap .av.mgses

If f(x) = x° + 5x + p and g(x) = x? + 3x + q have a common factor Q(x). then
Q(x) =
F(x) = x% 4+ 5x + p 2wdbow g(x) = x* + 3x + g e .8 &6 osaY Q(X) D £8H

&06], '.’_‘)'EQ_)DG.) Q(x) =
Options :

Question Number : 126 Question Id : 496901341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddan, 2rgodap avmgses

Atal’s age 3 vears ago was three times the present age of Amit. At present Anil’s age 15
twice the age of Amit, Anil is 11 years younger than Atal. Then the present age of Anil (in
years) is
3 ﬁo&jﬁhﬂ&'}_})@ Socie) e9tre5 DO, D 031}32}_ DA S0DROAE) J0TPED [SIAVE
LRG0 9 OﬁlJSZT SOIAD 95060 D08 G&éo‘&[}. eag3ed Soé eaed 11
RODEBODAVD LI TPED. YD 9D GINE), DRI HOIDRDY (RodsTrees’)

Options :

& 8



4.\/16

Question Number : 127 Question Id : 496901342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddan, rgodad .a».mgses

A shopkeeper sells an item at profit of 15%, If he reduces the price of that item by Rs.
200, he makes a loss of 10 % on it. Then the cost price of that item (in Rs.) 1s

2,8 (OBPREPMD 208 DDA 157 ererd3 ISV LY. RIEHCL) &5 20 G0 200
arjen 80, TR wac 107 Sjo o). RN &8 DY gy Ty 66
(cir.e2e5°)

Options :
1. # 780

) ® 795
3. 800

4. % 805

Question Number : 128 Question Id : 496901343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddan, 2rgodap avmgses

A manufacturer of TV sets produced 600 sets in third year and 700 sets in the seventh year.
If the production of sets increases uniformly by a fixed number every vear. the total
production in first seven years is

B0 DL B0IFD IDH EATEHE PED VodSyGae” 600 LA, DED
080206 700 QA ESNG DI, D) GONG DS DodeGo w8 DB oS
DL DM, DV D VODBY00RES” BN GBS

Options :

, w 4425
5 % 4540

4 % 4620

Question Number : 129 Question Id : 496901344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Algebraic and Geometrical Ability
DA, 2gSab a»mgﬁa

A ladder has rungs 25 cm apart. The rungs deerease uniformly in length from 45 em at the
bottom to 25 cim at the top. If the top and bottom rungs are 2 2 m apart. the length of the
wood (in ems) required for the rungs is

28 DIHD (v ew 25 20.00 GFC esoicoes” &) 00, T°D) DY Ty D
&°065° 45 0.2 OO BN arriod” 25 0.0 © DO DO DEGFD B S
DFORB0 oIrjon. 5 arfic 5D iw D801 D PMices"D Do ) Grdo 2
¥ 0D €083, &5 VLN BDVGo eaby Fony (3€)) Ta (Ro.doewes’)

Options :
1« 385

5 % 392

s % 398

4 % 412

Question Number : 130 Question Id : 496901345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

DA, 2gSab a»mgﬁa

n
. . . X
If the coefficients of x” and x® in the expansion of (3 + E) are equal. then n =

n
(3 + %) o308, Doeees” x7 dwbosw xf G50E), (DEBEDVED DITH0 OB, YD 1=
Options :

1. % 42
7 % 46
3 ® 49

4.9 3

L

Question Number : 131 Question Id : 496901346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

DA, 2gSab a»mgﬁa



. . . . 1.
The numerically greatest term in the expansion of (1 — 3x)1% whenx = J1s

x = > oy (1 - 3x)10 cing), Dryomes* oarge dorr (B30 ey Heso.
Options :

)

10, ()
2. *

Question Number : 132 Question Id : 496901347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability
DA aw, argodaDd Fodg &

35
1., 2 &

Ifza=|2 1 —2] and AAT = ATA=1I.thenx +y =
x 2 0y

1 2 2

34 = [2 1 —2] adai AAT = ATA = I esomd. ey x +y =
x 2 vy

Options :

1% 2

2. -3

Question Number : 133 Question Id : 496901348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

DA, 2gSab an.mgﬁa



1

5 J = [_21] and A% [_IJ = [é] Then the sum of the

A 1s a 2x2 matrix, such that A [

clements of A is

A[ ] =[] oveamo 42[ 1] =[] wovipen A og 2x2 arss eons, ey A
cm)sb QP50 Joedo
Options :

1% -1

Question Number : 134 Question Id : 496901349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

Ddan, rgodad .au.mgses

[12f—3x—4X+1
1—cos2x i~

Options :

1
L Elog?

log 3
) % log 2

2
3 log 3 .log

1
4 % logl2

Question Number : 135 Question Id : 496901350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

Ddan, ?5»5:13601: avmgﬁa

d
= a3, then =~ =

Ifx§+y -

3 2 2

2 2 2 d
X3+ Y3 = @3 90w, @Q}Dm ﬁ =

Options :



Question Number : 136 Question Id : 496901351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddan, rgodad .au.mgses

In the following figure, if AE=EC=CD and A
£EDC = £EAC = 30°, then £AED =

S£AMOS doDads Deoest AF=EC=CD
awboin LEDC = £EAC = 307 esged,

@T'.J_):]Cij LAED =

Options :
| ® 30°

, % 45°

L
_ 60

90°
4.9

Question Number : 137 Question Id : 496901352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability

DA, 2;dabH .a-.mgﬁes



What is the area (in sq. e ) of the trapezium in the figure given below?

& 300 QOICDH DEI0ES’D DAL DB g, PFOL0 (x3]2e]D ©e5°) does?

Hem Jem

A 5Bem

Options :
| % 400v21

5 % 300v21

200421
3.¢

100y21
]

4,

Question Number : 138 Question Id : 496901353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

DA, 2;dabH avmgﬁa

In the circle given below with centre ‘O°, if AC=BC and £AOB = 140° then £PBC =

&S00 QDLRICN ‘O’ Sogorriie Syed0e5” AC=BC 0doin £AOB = 140° esond, ) Nt
ZPBC =

Options :
1. 8% 125°

a
, o 145

4 % 1707



Question Number : 139 Question Id : 496901354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddan, 2rgodap aumgses

The four points (1. 7). (4. 2). (-1, -1) and (-4. 4) are the vertices of a
(1.7}, (4. 2). (-1, -1) sw8oin (-4. 4) 9D Traun Doctanen 82 %'gm}m
Options :

L Square /SeR0000

Rhombus / 20 SO0

Parallelogram / “a0roedd DGR 2O
3. % - :

Rectangle / f_‘ng <HE00

Question Number : 140 Question Id : 496901355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability

Ddan, rgodad .au.mgses

If the point A(6. 1}, B(8, 2). C(9. 4) and Di(p. 3) are the vertices of a parallelogram taken in
order, then the value of p is

A(6. 1), B(8. 2), C(9. 4) 08an> D(p, 3) e 2,6 DAFBE SEMyB0 CIOE), 63
E20065°0) RN 0B, WD P Gh0g). Desd
Options :

]. #® 6

, % 112

Question Number : 141 Question Id : 496901356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

5'0.’_:)55 5‘5‘-“‘35“-"



Mean marks secured by the students in a class is 53. The mean marks of girls is 55 and

mean marks of the boys is 50. The percentage of girls in the class 1s

28 e0rieest D S}m“?ggom @m‘be‘.ml SELE RS ®908 0G0 53. erdde) SULUED e908
mm{‘mo 55 s0boiuy erend mm&e eaps a)cg')?gaj.)o 50. e3 e30riceeS’ D erdde) Taa0?

Options :

L% 65

4. ® 40

Question Number : 142 Question Id : 496901357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

a-oq:;,s av.mgsa

Xq. X5, X3 are ungrouped data with x; > X5 > x5. If the arithmetic mean and median of this
data are respectively 30 and 20 and x; — x3 = 50. then x5 =

Xp > X > X3 F X1, X, X3 005,68 GTroFo. ¢ GTP0T0 VL), ODIVEHI0 BT
Q0GB DA 30 0BT 20 NG X — X3 = 50 BB, BN X3 =
Options :

1Lv 10

, % 15

5 % 20

4 % 23

Question Number : 143 Question Id : 496901358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

a'c:_oés a-mgsa



The mode of the following distribution is

& 306 DerEddal A, LTUFEAD

Class interval
©00@ eoado | 10 10-20 20-30 30-40 40-50

Frequency
Foipop | A

| ]
A
| £
e |
| o
o
—
AN

Options :
1. # 22

2._/.;4

3 % 25

27

Question Number : 144 Question Id : 496901359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

awés aumgsa

The median of four observations is 4 and their mode is 6. If the sum of the squares of those
observations 1s 48, then their standard deviation 1s

TP HDOIVHO G0 4 BT T BITVFES 6. & DOIWDL SGAVL Do 48

e300 o) B0y Sa DDA
Options :

2

Question Number : 145 Question Id : 496901360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

a-oa;;,s avmgsa



A population with two groups has 250 items with mean 15.6 and variance 13 .44, The first
group of 100 items has mean 15 and variance 9. Then the standard deviation of the second
group is

006 DAVEODAVOF EPLDH w8 BT°P, 902 G0 15.6 BT Jiyd 13.44 &
250 eozavesn £HA cod. aredeS” DG DAVCFODEAL oD aocfavo 15 ddain

DS 9 OF 100 eoT0EBN God. N Tofl DanTraio 030g), 530 DSOdo

Options :
1w 20

3. % 30

4.0

Question Number : 146 Question Id : 496901361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

5'0.’_0755 ‘3“‘335‘-"

The height x (in ems) and the weight v (in kgs) of 5 students are given below:

5 o DRy g, I x (Do.ad ©e°) B DY) ¥ (8.07.085°) & SOOI

@.;5553&66.

x| 160|161 162|163 | 164

y |50 (53 |34 |56 |57

The coefficient of correlation p,, between their heights and weights 1s nearly

0 JBuen BCIL LMD OGS (10 RDITPR0LIOE S0 P, QT
Options :

| % 0.86

5 % 0.88

;% 094

4 098

Question Number : 147 Question Id : 496901362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Statistical Ability

aw,ss %-mgﬁa

In a lottery of 118 tickets numbered 1 to 118. three tickets are drawn at random
simultaneously. The probability that all the tickets drawn have prime numbers is

1 @00 118 H6£ o) e03ensn DD 118 36w e &8 redel” aircydySomr Qe

D300 D8 o0 HIW. HAD B B3 HEFD VoL DA Gol Dozrage

Options :
35
|« 2301
33
o @ 2302
43
3 % 2301
28
4 % 2103

Question Number : 148 Question Id : 496901363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

a'ca:;s ‘3“‘335‘-"

A student appears for tests I, IT and III. He will be successful if he passes through either
Test I and Test IT or Test [ and Test IT1. The probability of a student passing the tests I, II,
IIT are p. q. ¥ respectively. If the probability that a student is successtul is ¥4, then which
one of the following is true?

w8 Doy 6L L 1L, 1T 0% HFad) @0y, @a L oo I Hbgen md dor 1
a0boi I HbEen D e@gaca £900063 €969¢5) a0 .3“@-05).6@. 28 KJC!"?SQ I I1,I0I
DBz’ £H0S FBOI VoD OV p. q. ¥ wE DTG Daobo Fdod Do ¥

©ond, & 308 oIE° DO Dego?
Options :

o

) % p=l.gq=%

i D= Vi.q="%

Question Number : 149 Question Id : 496901364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Statistical Ability

aw,ss %-mgﬁa

A bag contains 20 red and green tennis balls, of which 8 are marked ‘used’ and 12 are red.
If the probability of picking a green marked ‘used’ ball is 1/5, the probability of picking a
red unmarked ball from the bag 1s

28 Do) £5° 20 20D <wdoiv DD BD) D LBV ET°) 0. T35 8 modoop
PG 89 (DD DNHD S80I 12 IEID. s 835_)?{)::3()3) PG e (D DR
BIOEIT) Jon) £9e) "raoa_a"a‘}@ej 1/5 es0mdd, &2 Dod) Aol 208 DG I)o:DTSZ) 206370 faoiofie)
~oET I

Options :

Lv 23

o
n

3. %

4. 8 3/8

Question Number : 150 Question Id : 496901365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Statistical Ability

a'ca:;s ‘3“‘335‘-"

A 2x2 matrix having elements 0 and 1 is selected at random. The probability thatitis a
non-singular matrix is

0 0805w 1 00 duresten m 5B 28 2 X 2 argsdy o)y Sore Dot B0,

098 208 Jorom SPaE e S

Options :

1
L&
2w 38
3% 1/3

5/8
4..%

Communication Ability

Section Id : 4969016
Section Number : 3
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 38

Number of Questions to be attempted : 38
Section Marks : 50
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 49690123
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 496901366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct meaning of the word given:
ephemeral
Options :
enduring
- g

5 @ lvely

3 short-lived

4 % lifeless

Question Number : 152 Question Id : 496901367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the word given:

Fetters
Options :

L shackles
. % tethers

fritters
3. %

4% shutters

Question Number : 153 Question Id : 496901368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct meaning of the word given:
Reiterate

Options :

| Complete



) % Tolerate

3% Alleviate

Repeat

Question Number : 154 Question Id : 496901369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the word given:
Inhibit

Options :

1. % Hire

) Prevent

_ Exhibit

4% inhabit

Question Number : 155 Question Id : 496901370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the word given:

Excruciating

Options :

_ agonizing
.¥ 7 N

% r:ncoumging
9 =g~

e = o
3 # endorsing

complicated

Question Number : 156 Question Id : 496901371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct meaning of the word given:

hoodwink

Options :
link



 deceive

2.

3 % blink
wink

4. %

Question Number : 157 Question Id : 496901372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank choosing the correct word:

The disgusted king the throne.
Options :

yielded
resigned

_ discharged

” abdicated

Question Number : 158 Question Id : 496901373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank choosing the correct word:

The enemy camp was set by the Indian Air Force.
Options :
| % adrift

ablaze
athwart

4. % ACTOSS

Question Number : 159 Question Id : 496901374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank choosing the correct word:
TwishI the truth.

Options :

| % have known



, # know

 knew
3.9

4 % can knew

Question Number : 160 Question Id : 496901375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blank choosing the correct word:
The girl has decided to marry him come what

Options :

| % shall

can
2. ®

3. % must

4 o may

Question Number : 161 Question Id : 496901376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

Crowd funding means

Options :

L Raising small funds from many people

) ® Raising funds for a large organisation

3 % Raising small funds for social welfare

4 % Raising funds for developing infrastructure

Question Number : 162 Question Id : 496901377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
MBO stands for

Options :

| # Management by Observations

Management by Objectives



3 % Management by Obstacles

4 # Management by Organization

Question Number : 163 Question Id : 496901378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

Software that allows you to view a PDF document
Options :
| % XPS viewer

Google Reader
2. % =

3 % Mozilla Firefox Reader

4 Acrobat Reader

Question Number : 164 Question Id : 496901379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
TURL stands for

Options :

Universal Resource Location

Uniform Research Locator
2. %

Uniform Resource Locator
3.¢

4 % Universal Resident Location

Question Number : 165 Question Id : 496901380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
WinZip 1s a software used for attaching files.

Options :

L% encoded

5 #% decoded



3 ¢ large

4 % small

Question Number : 166 Question Id : 496901381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
De-jobbing refers to

Options :

|« Broadening the responsibihities of a job
5 % Reducing the responsibilities of a job

3 % Removing an employee from service

4 % Changing the current job of an employee.

Question Number : 167 Question Id : 496901382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

The list of items and products in stock
Options :

| % spreadsheet
, % tumover
3 inventory

stocking
4. ®

Question Number : 168 Question Id : 496901383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

Grapevine refers to
Options :

L% @ kind of alcohol

grapes served in the meeting

proceedings of a debate



circulation of rumours
4.9

Question Number : 169 Question Id : 496901384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
Cold call refers to

Options :

o @ sales call made at an appointed hour.

, % Aananonymous threatening call.

y A0 annoying call treated as a nuisance

8 sales call to an unprepared recipient.

Question Number : 170 Question Id : 496901385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
In camera session refers to a

Options :

public session
1. #

session in the presence of photographers

2.
modelling session
3.
private session
4.

Question Number : 171 Question Id : 496901386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:

‘Raghu. are you quitting the job for good?”
The speaker asks Raghu
Options :

| w ifquitting the job is good for him.

) if he is quitting the job permanently.



3 # if he is quitting the job for a good reason.

4 % if he is doing good by quitting the job.

Question Number : 172 Question Id : 496901387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:
A: Why don’t you do it?

B: It’s not my cup of tea.

In this conversation. B says that

Options :

| & he 1s not interested 1n it.

5 ® hewould do it after a cup of tea.

3 % he 15 not able to do fast.

4 % hehasn’t taken his tea yet.

Question Number : 173 Question Id : 496901388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
A: The agitators have been shouting that the government has not done the right thing. Do
you agree?
B: I am afraid that their argument will not hold water.
B implies that
Options :

the agitators are right

the agitators are hesitant
2. %

~ the agitators’ contention is false.
3.9

4% the agitators deserve support.

Question Number : 174 Question Id : 496901389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Choose the correct answer:

A: The court reduced the term of his punishment.
B: This was so because the criminal made a clean breast of his doings.

B means that the criminal
Options :

L% cleaned his chest with water

5  made a confession of his guilt

_ said that his acts were above reproach

33 likes people to have clean bodies

Question Number : 175 Question Id : 496901390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:
During recession many companies are forced to lay their emplovees.
Options :
over
1. %

R4 'fo

_ aside

of
4. %

Question Number : 176 Question Id : 496901391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Choose the correct answer:

He has made quite a fortune.

The above statement implies that
Options :

he quietly amassed wealth

fortune came to him. unasked for

 he acquired a lot of wealth
3.¢



he obtained wealth from foul means

Question Number : 177 Question Id : 496901392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Choose the correct answer:

Randy has terrible headache
Options :

w2

) ® an

;. % DO article

4% the

Question Number : 178 Question Id : 496901393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with the appropriate phrase/verb/preposition:
We haven’t gone on a holiday our last anniversary.

Options :
| % for

) ® from

since

from about
4%

Question Number : 179 Question Id : 496901394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with the appropriate phrase/verb/preposition:

If he to the U.S.. he could see The White House
Options :

on
| % 8Oss

7 went



4% had gone

Question Number : 180 Question Id : 496901395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate phrase/verb/preposition:
He started watching the TV. after he

Options :

| % will finish his homewerk

) had finished his homework

3 % has finished his homework

4% has been finished his home work

Question Number : 181 Question Id : 496901396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with the appropriate phrase/verb/preposition:
If you had warmed me. I done that
Options :
wouldn’t have

, # Wwon'thave

3 # wouldn’t have been

4 % shall not have

Question Number : 182 Question Id : 496901397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate phrase/verb/preposition:
Thousands died Corona virus.

Options :

| % mn

5 # upon

of



4. % into

Question Number : 183 Question Id : 496901398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with the appropriate phrase/verb/preposition:

The region abounds natural resources

Options :

| w UP

) % on
3 % upon

in

Question Number : 184 Question Id : 496901399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with the appropriate phrase/verb/preposition:

The fan repaired now by the electrician.
Options :

| # was

5  has been
3 % being

4% 15 been

Question Number : 185 Question Id : 496901400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with the appropriate phrase/verb/preposition:
After a long debate. they arrived a conclusion.

Options :

| % fO

2330f

on



at

4.9

Sub-Section Number : 2
Sub-Section Id : 49690124
Question Shuffling Allowed : Yes

Question Id : 496901401 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (186 to 190)
Question Label : Comprehension

Read the following passage and answer questions

At 5 percent. India’s economy registered a very slow gross domestic produet (GDP)
growth rate for the April-Tune quarter 2019-20. The latest GDP growth rate heightened
concerns about slowdown with some apprehending that recession might set in. However.
the current GDP figures are no indication of any impending recession, which anyway does
not have an accepted-by-all definition. But it generally refers to contraction of a country’s
economy in two consecutive quarters. In such situations, banks and other financial
institutions fail. The US witnessed such a situation in 2008-09. In India. the economy is
growing. Only the rate of growth has slowed down, which is a huge setback for the
country as it requires an accelerated growth to provide employment to millions entering
the job market every year. A slowdown in growth rate would turn the population dividend
into an unmanageable burden. The current slide in GDP growth. for four consecutive
quarters. 1s interspersed with a series of policy decisions. Two mega policy decisions.
demonetisation in November 2016 and the rollout of the goods and services tax (GST) in
July 2017 disrupted the Indian economy. Aimed at greater formalisation of the Indian
econonty. the twin disruptions struck a big blow to the informal sectors that employ the
maximum number of workforce, The policy disruption hangover still continues and is
accentuated by the erisis in banking and non-banking financial sectors. This hit the small
and medium scale businesses more adversely than expected in the wake of the collapse of
Infrastructure Leasing and Financial Services (IL&FS). Money just stopped flowing into
the market. The net result was a huge loss of jobs.

Sub questions

Question Number : 186 Question Id : 496901402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

According to the passage. an economy is in recession when
Options :

| # itshrinks for a quarter

the growth rate reduces to 5%

it recedes for two successive quarters
3.

policies like GST and demonetisation are enforced

Question Number : 187 Question Id : 496901403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the April-Tune quarter of 2019-20. the Indian economy

Options :



grew

) ® receded

3 % Wwas constant

crashed
4. ®

Question Number : 188 Question Id : 496901404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which factor mnterrupted the Indian economy during the year 2016-17?
Options :

| w Very low growth rates

demonetisation
2.

3 % high unemployment

crisis in banking

Question Number : 189 Question Id : 496901405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The worst affected party in the wake of GST and demonetisation is
Options :

labour

, % multinational companies

small and medium scale businesses

the public sector

Question Number : 190 Question Id : 496901406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The main aim of demonetisation and GST 1s to
Options :

| w cmeourage the banking sector

ss collect more revenue
2.



~formalize the Indian economy
3.¢¥

lower unemployment

4, %

Sub-Section Number : 3
Sub-Section Id : 49690125
Question Shuffling Allowed : Yes

Question Id : 496901407 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (191 to 195)
Question Label : Comprehension

Read the passage below and choose the correct answer.

Environmentalism began as a movement in the 1960s and 1970s. However.,
humanity’s relationship and dependence on the earth for survival has existed since the
beginning of time. Many cultures including Native Americans. Aborigines. Africans and
South Americans have understood this interconnection with the natural world, Western
cultures had a poor understanding of this relationship as they separated themselves from
the land through technology and development. Beginning in the nineteenth century. the
Industrial Revolution caused many changes: Western people realized their behavior had a
negative impact on the environment. In the growing industrial cities of London, New York
and Chicago. coal burning factories polluted the air and water while the need for lumber
to build factories and homes caused mass deforestation and subsequent destruction of
animal life.

On a relatively small scale. groups of people were concerned about the future of
the environment. Scientists studied ecological systems while others formed clubs and
initiated protests, These concerned people became known as conservationists. a
predecessor to the modern environmentalist. Some of the carliest protests against pollution
and for the conservation of natural resources and wildlife happened in the late ninsteenth
century.

In the years proceeding World War II, America experienced an economic boom.
New technologies introduced atomic energy. synthetic materials and chemicals. such as
pesticides, which led to advancements in agriculture and consumer products. The booming
economy allowed the average family to afford a house. automobile and other amenities at
soaring rates. Lands outside of cities were bulldozed for suburban development, new
factories emitted more pollution due to the production of more goods and larger numbers
of cars discharged additional exhaust: “pollution was the price of economic progress”

Sub questions

Question Number : 191 Question Id : 496901408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which culture among the following did not understand the interconnections with the
natural environment?

Options :

South Amernican

) European

3 % African



4% Native American

Question Number : 192 Question Id : 496901409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Destruction of animal life was caused by
Options :

" the pollution created by the coal burning factories
1.

" the introduction of atomic energy

. large scale deforestation
3.4 RS

4 % the vze of pesticides

Question Number : 193 Question Id : 496901410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following are NOT conservationists?
Options :
L% Scientists studying ecological systems

_ Industrialists producing synthetic materials, chemicals and pesticides
_— p gsyL p
3 # Groups of people protesting against pollution

r People advocating conservation of natural resources

Question Number : 194 Question Id : 496901411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The western cultures are not connected to the natural world because of
Options :

L technology and development

> # the pollution of water and air
World War-IT

the economic boom

Question Number : 195 Question Id : 496901412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which event caused realization in westerners about their behavior towards the
environment?

Options :

L% World War-II

, % The Economic boom following the Second World War

, The Industrial Revolution

3.¢¥

4% Advent of environmentalism in the 1960s

Sub-Section Number : 4
Sub-Section Id : 49690126
Question Shuffling Allowed : Yes

Question Id : 496901413 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)
Question Label : Comprehension

Read the following passage and answer questions.

On 10 May 1857 the Indian Rebellion started in Meerut. When news of the
fighting reached Jhansi, the Rani asked the British political Officer. Captain Alexdander
Skene. for permission to raise a body of armed men for her own protection: Skene agreed
to this. The city was relatively calm in the midst of the regional unrest, but the Rani
conducted a Haldi Kumkum ceremony with pomp in front of all the women of Thansi to
provide assurance to her subjects, in the summer of 1857 and to convinee them that the
British were cowards and not to be afraid of them.

Until this point, Lakshmibai was reluctant to rebel against the British. In June
1857. rebels of the 12% Bengal Native Infantry seized the Star Fort of Thansi containing
the treasure and magazine, and after persuading the British to lay down their arms by
promising them no harm. broke their word and massacred 40 to 60 Evropean officers of
the garrison along with their wives and children. The Rani’s involvement in this massacre
15 still a subject of debate. An army doctor. Thomas Lowe. wrote after the rebellion
characterising her as the “Jezebel of India...the young Rani upon whose head rested the

bleod of the slam™.
Sub questions

Question Number : 196 Question Id : 496901414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The passage asserts that the Rani of Jhansi was to the Britishers in the beginning.
Options :
at loggerheads

1. %

subservient
2.

-annical
3. % w



antagonistic

Question Number : 197 Question Id : 496901415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Rani conducted Haldi Kumkum ceremony to assure her followers that
Options :

| # theyhave to be always traditional

the eity is very much calm

v there 1s no need to be frightened of the Britishers
3 ¢

4 % she got permission from the British Officers

Question Number : 198 Question Id : 496901416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Bengal Native Infantiy killed the British officers by
Options :
strength

1. #

valour

3 % wisdom

. treachery

Question Number : 199 Question Id : 496901417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Thomas Lowe believed that, the Rani of JThansi
Options :

| w was sumply misled by the Bengal Native Infantry

had a hand in the massacre of the British officers

2.

refused to be a part of the massacre

threw the blame on somebody else wisely
4.%



Question Number : 200 Question Id : 496901418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The antonym of the word ‘reluctant’ 1s

Options :

| v willing
5 # uncertain

hesitating

4% disinclined



